BEMEYEERERERER (FTKEBEREEF) IZ2DOULVT (Frk 26 &F 4 BAIES)
NFETAKE
EBOKLEE L Z—>
ORBLAIBIR D S E R ERERE R (B 1F¥8 7 T Lb7-0 T L)L)
L FehtE S 3% 131 ﬁ&%ﬂ“‘ril*‘;:'?A ﬁ&%ﬂ“@lﬂéé/ﬁla ﬁ&%ﬂ“f%a\“érﬁla
FRk 26 44 H 23 H R & 60 150 210
OMELK DRI ERERERS R (B 1387 T 857207 L)L)
T?KH& H ﬁ&%‘l‘i = ]7$ 131 ﬁ&%‘l\%-gll‘/ A jj&%q‘ll\%_g’%/]j VA jjk%qﬂl\%a\_%%/]j VA
OB N O ZE M s (BN ~A 7 1o —-UL MMElf)
T E & i e EmAn 5 5 vt £ 5i 504 G E IR B H A
HIE = 05 A—FL |05 A=KV |05 A=K/ |05 A—FL |05 A—=F1L |05 A=K
Q?Z;E;?H 0.15 0.20 0.28 0.34 0.26 0.22
KWEFRKUFEE o Z—>
OBLAIBIE DG EEIRERITERE R (B 1¥8 7 T LB RT L)L)
SEH BebbbE 3 ™ % 131 75&%#‘%1‘54‘/ 7 I T ‘Til“l‘;‘/ 7 I Tkt ﬁ/ﬁ\ﬂzg Jr/ 7 I
FRk 26 /-4 A 21 H R &g &g 40 40
O DS TEWEIRERERES (B 1¥n 7T L5520 X7 L)L)
EH e S 2% 131 ﬁﬁﬁfﬁ;{;‘/ A 75&9—”‘%'57‘/ AN ﬁ&%'l‘%aj%: 7N
BEETEHEK
<mEREE Lz Z—>
ORBAIGIRD BT ERERERS R (B 1Fa 7T Lb7-0 7 L)L)
EH e S 2% 131 ﬁﬁﬁfﬁ;{;‘/ A 75&9—”‘%'57‘/ AN ﬁ&%'l‘%aj%: 7N
OMEK DS ERERER R (B 1877 857207 L)L)
LEEHHEbEZ—>
OWAIGIED D E IR EREFRER (B 1 Xl T Ab-0 X7 1))
EA FehtbE s 3% 131 P&%ﬁﬁlﬂ;‘/ A ﬁ&%ﬂ“@lﬂ;/ 7 I ﬁ&%ﬂ“f%ﬁ\“éj‘r/ 7 I
OMBK DS TEMEREREMS R (A 1 X877 5H720 7 L)L)
LA FestbE S 3% 131 ﬁ&%ﬂ“ﬁlﬂ;;/'?b ﬁ&%‘fﬁlﬁ;/ﬁla ﬁ&%ﬂ“f%a\‘érﬁla




